Chapter two: Transistor as Switch

Q2] For the following circuit find the value of RB
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Q3] For the following circuit Find
1- The value of R1
2- The value of Vin
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Q4] A common emitter NPN BJT switching circuit has the following data : Vce= 100V,
Vce= 200mV, Maximum power handling of 1KVA, Maximum switching energy 5M;j,
and total power dissipation = 52w.Find the value of switching frequency.

Ans

Pohs = ws X f

Piotal = Preat + Pms

Bns = Protat — Pheat

Prear = Ve X I¢

Pys 1000
Vee 100
Pheat = Veg X 1o = 200 X 1073 x 10 = 2 watt
P,s =52 — 2 = 50watt

50=5x10"3xf;

50
fy = o= =10000Hz

PMS=VCCXIC—>IC= =10A

Q5] A common emitter NPN BJT switching circuit has the following data : Vcc= 100V,
Vce= 200mV, Maximum power handling of 1KVA. (1) Find the value of R (2) calculate
the maximum power dissipated as a heat.

Ans

PMS = VCC XIC = 1 X 103 = 1000VA

Pys 1000
= =_—_=104
© TV, 100
Vee V, 100 — 200 x 1073
¢ = CC—-YCE(sat) — — 990
I, 10

Proar = Psgr = Veg X I = 200 X 1073 x 10 = 2 watts



